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Tnpsc Aptitude & Mental Ability Model Questions Set 4

1. If 20% of A=B and 40% of B=C then find 60% (A+B)
A 65T 20% = B 10HMILD B 65T 40%= CeTeuflev (A+B) -65T 60% &iTevoT

a.30%50f C b.60%of C c.75% of C d. None of these

2. A rational number is such that when we multiply it by 5/2 and add 2/3 to the product

we get -7/12. What is the number?

Qb allElF ) eTetoTenevor 5/2-60 QUHSHE QB QLITHSSMHLIVE)IL 6T 2/3 85
gal lgevTns: -7/12 HlemL (G eTevflev SeuaildHlg ) eTevor 61512

a.-3/2 b. 3/2 V2 d. 172
3. A pie diagram is with dimension

Qeulips5I60o1([H (pie) auenguLSSlesT LIflomeuTid 6158 6m6vT?

a. one b. three c. two d. four

4. (0.756 X % ) is equivalent to

(0.756 X % ) &(& FLOLOMEBIZ)| 6151

a. 18.9% b. 37.8% C. 56.7% d. 75%

5. In how many years will a sum of money double itself at 18.75% per annum simple

interest?

aBLSSHD(S 18.75% eTed1m eteflw ullg ailHl55H6v, QHMEMmSEWNETIZ) 615560 60T
au(HLEIG66v @rLligliLim@ELb?

a. 4 years 5 months b. 5 years 4 months
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c. 6 years 2 months d. 6 years 5 months

6. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4,347. The period (in years)

is

€15.30,00 61631 Q\FHMENGE(E), I6VTYMN(E) 7% Fal (h allly aflflgsHH6v 615 86m6vT
Oh6utT([HB61fl6v Fal (B 6uLlly CM. 4,347 S (SLD.

a. 2 years b. 2 V2 years C. 3 years d. 4 years

7. In an equilateral triangle whose side is 3v3 cm, the length of its altitude is

QB FOLES (P&CHMETTISHSH6 LSS S6may 3v3 QF.15 eTevfleb 15681 (BSZHIWTSSetT

S|61T6Y 6T60TLIS]

a. 4.5 cm b. 55 cm €. 103 cm d. 9.6 cm
8. Solve:
C bba Cab ac ab ac

85

C bba Cab ac ab ac

a. bcacb b. babcc c. abcbc d. acbcb

9. A hemisphere and a cone have equal bases. If their heights are also equal, than the

ration of their curved surfaces will be

(H S1M&ECHMeN(LD, FaldLD QCT SYlILSES08 G\&Mesur(h siTemsst. eumnileot

2 Wy &b eTesflév eumnflest euememunLiLilest aflflGLd eT6tT6vT?

a. 12 b. 2: 1 V2 d.v2:1

5X
2

10. If1 -

=1, then x is equal to
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5X
125

=1 eTevfl6v, x-65T I eTedTLIS)
a.s b. 2 c.0 d.3

1. The age of Vivek and Sumit are 2:3. After 12 years, their ages will be in the ratio 11: 1.

The age of Sumit is

aflGeus wmmIb H16S5 SpEw Queurflstt auwigiseflett aflagib 2:3. 12 4 6voT[H'5(EH 5
UimE ieuiseflesr euwgy) el 11:15 erevflev sidlGHebr suig)

a. 32 years b. 42 years C. 48 years d. 56 years
12. A certain sum of money amounts to Rs. 10,080 in 5 years at 8%. Find the principal

Q@ GUILUILL Qsnenswneng) 8% el ly aissHlev 5 et seflev em. 10,080

EHMG). SIFEM6VE HMETOIS.
a. Rs. 7,200 b. Rs. 7,000
c. Rs. 6,200 d. Rs. 7,300

13. X and Y and Z can independently complete a piece of work in 6 hours, 4 hours and 12
hours respectively. If they work together, how much time will they take to complete

that piece of work?

X,Y,Z g6vflE56vflCw 6(m Couemeveniwl (ip&:8 6 6ssflGBITD, 4 WessGHITD, 12
wesflCmND, a1(hSSIS QasnenElesiment. cpeu(md Caibgl ieuGalensvenw (Pipss
eTeueueney Grud 61(h5515 Q& meiTeurj?

a. 3 hours b. 5 hours c. 6 hours d. 2 hours
14. HCF of ¢2 — d?,c2 — cd
cZ — d?,c? — cd - ebr 15.Glum.6u

a. c+d b. cd c.c2 —d? d. c(c-d)
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15. The product of two relatively prime numbers is 35. Their LCM is

Q6TMISQSMEBIN] LIS eTevvtaenTest @nevsi(h stevviaserflest GQILIH&S60 QB Mens: 35 eT6vfl6v
Sleumflett &M GUNg) LI

a. b. s C. 35 d. 15

16. If —: —:

M| =

1 .
—= 2:3:5, then x:y:z is
Z

NN

M| =

1
y

N | =

= 2:3:5, 6T6vfl6v X:y:z eT6BTLIG)
a. 2:3:5 b. 6:10:15 C. 5:3:2 d. 15:10:6
17. Find the volume and surface area of cuboid 16 m long, 14 m broad and 7m high

16 1S Berm(pib, 14 15 i&ev(IPID, 7 1S 2 WIN(PLD C\&TETITL SH6vTFGINSSH\6tT HevIi6Me) LOHMILD

uriy sessrBLillg.
a. 1568m3,868 cm? b. 1560 m3, 864 cm?
c. 1460m?3, 860 cm? d. 1320 m3, 850 cm?

18. A is twice as good a workman as B and together they finish a piee of work in 14

days. In how many days can A alone finish the work?

A eTeTUIGUI B-s0)W &ML IgeV|1D Q(HLOL NG FmLung Ceusnevemw G\ ileury. Q (mHeu(HLd
Goibgl Sibs Calenevenwl 14 BILS6f60 (WipliLmjsei. eTeorGeu A LB AHHS

GousmevenIw (1955 61556M60T HITLG6T S (GLD?
a.mn b. 21 c.28 d. 42
19. If @ is defined as x @ y = x*+ 2y, find the value of P if 4 ® 3D p) =50

@ erév1m QFWESlwNestgl X D y = X*+ 2y 6T6vT uenTWMISSUILL(Y, 4 D (3D p) = 50 6T6v15

Qan@B&esUIuLLTe, P -65T EILIL HM6voTs.
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a. 4 b. 7 c8 d. 125
20. The largest 4- digit number exactly divisible by 88 is

88-60 UGULS Salgw W0 QuIflw BesiE Qev&s eTevur 6187

a. 9944 b. 9768 C. 9988 d. 8sss

21. A is B’s brother, C is B’s Father, D is C’s Father. Then A is of D.

A etédTueury B 6o1 #@angnest. C etedteulj B ufledt ems. D etestLieulj C ullest Hhems,

eT6dTmMeL A eT6dTLIOU] D Ufl6dT

a. Grand mother b. Grand father c.Son d. Grand son
3. B, 11,38

20X+ (2% - )= =

126 101

a 1l b C
‘5 : 125 ' 7125

wWIiN

5 www.winmeen.com | Learning Leads To Ruling




